
Eaves BeamDrawing 1.1

1. Ensure the supporting construction has been completed and that the upstand is square by checking the external diagonal measurements. 
Clean any debris away from the roof ensuring the weatherproof membrane is clean and free from any defects or damage.

2. Check the roof lantern has been delivered in full 
before the installation begins.

3. Unpack the eaves beams and begin to assemble. Apply a fine 
bead of silicone sealant to the mating faces of the eaves beam 
to prevent water ingress, see drawing 1.2. Using SM113 corner 
cleat & SH113 chevron in each corner joint. position the corner 
cleat in to eaves beam and tighten using a T25 Torx bit, insert 
the chevron into the corresponding slot (Drawing 1.2), this will 
help keep the joint aligned, repeat this process for all four 
corners, see drawing 1.0.

*Fine adjustment of the joint can be 
achieved using a hand held T25 driver

4. Now the eaves beam is fully jointed it can be 
carefully positioned centrally on the upstand, 
see drawing 1.1. The outermost leg should be in 
line of the external face of the upstand, see 
drawing 1.2.

SH113

SM113
Drawing 1.0

Align witness mark on the cleat with 
the mitre of the eaves beam to 
ensure it is in the correct position

Level with External UpstandCorner Cleat Location

Chevron Slot

 

sil
ico

ne

Drawing 1.2

2 x SRH111

Rafter Locating 
Bracket

Drawing 1.3

Drawing 1.6

5. Unpack the ridge, along 
with the roof bars. Now the 
rafters can be fitted to the 
ridge. All rafter to ridge 
connector mouldings will 
be pre-fitted to the ridge 
body. Slide the rafter onto 
the correct moulding and 
fasten using two SRH111 
fixings screws (4.8x32mm 
pan head) through the 
pre-drilled holes in the 
ridge body, see the 
drawings to the right.

Drawing 1.4

Ensure the screws fit 
through the screwports 
of the bar

Pre-drilled holes

Drawing 1.5

IMPORTANT: Please follow all relevant HSE health, safety and manual handling guidelines, including all safe 
working at height regulations. The lantern design assumes that the eaves beam is fully supported along all edges 
by a structural upstand capable of resisting the full vertical (as well as any lateral spread loads) applied by the 
lantern roof self-weight plus imposed snow/wind loads.

Before you begin

Eaves beam assembly

Ridge assembly

Installation 
guide
V2 Oct 2022
with SBD option

Tools Required PZ2 Driver Bit, 13mm socket, 6mm Allen key and T25 T-bar



Drawing 2.0

Ridge 
Body

Ridge Bar

SRH117Drawing 2.3

SRH114
M8x50 Screw

SRM108
Hook Bracket

Drawing 2.2

SRH124
M8 Washer

Drawing 3.0

M8 Screwport

Drawing 2.3

Drawing 2.1

6. Once all ridge rafters are fully fitted to the ridge 
body, the ridge assembly can be carefully lowered 
on to the eaves beam. If your roof lantern does not 
have ridge rafters, fit the hip bars, see drawing 2.0.

7. Locate the hip rafters by hooking the bracket 
through the cavity of the crown moulding, this will 
temporarily hold the bars in place until the 
primary fixing screw is fastened. Using SRH114 
(M8x50 Screw) & SRH124 (M8 Washers) fix through 
the screw port of the hip rafter, taking care not to 
over tighten the screws, see drawing 2.2.

8. If the roof you are installing does not have 
a ridge, attach the hips to the 4-way crown 
moulding in the same manner as above, please 
ensure you use the M8 washers provided.
To gain easier access to the M8 fixing screws you 
can loosen the screws that fasten the hip body to 
the aluminium box section underneath and slide 
down the hip rafters See drawing 2.3.
Once all M8 screws are fastened through the 
moulding (taking care not to over tighten the 
fixings), slide the hips back into their correct 
position and re-tighten the 2 fixing screws that 
prevent hip slippage.

9. Fit the ridge body to the ridge bar by centralising the channel and secure with 
the SRH117 fixings through the pre-drilled holes, see drawing 2.3.

10. Using SRH111 (4.8x32 pan head) screws you can begin to attach all rafters to the eaves beam through the 
pre-drilled holes ensuring the screws pick up on the screw ports within the rafter bar (2 fixings per rafter).
Repeat this process until all bars are fully fasten to the eaves beam, see the drawings below.

Rafter assembly

Installation guide
V1 June 2021



SRH112

SRM103

Drawing 3.1

Drawing 3.2

Drawing 4.0

Drawing 4.1

2 xSRH116
4.8x25 countersunk

2xSRH112
4.8x50 Panhead

Drawing 4.2

90°

Ensure this
joint is tight
before screw
fixing.

2 x SRH111
4.8x32 Panhead

Drawing 4.3

Level with
External
Upstand

SRH113

Drawing 4.4

Drawing 4.5

Eaves Beam

Screw FixingsDrawing 4.6

11. SRH112 (4.8x50 pan head) screws & SRM103 
(Eaves Beam Corner Connector) are used to secure 
the hip rafters to the eaves beam through the 
pre-drilled holes in the eaves beam. Repeat this 
process until all bars are fully fasten to the eaves 
beam, again, ensuring all fixings fasten through the 
hip rafter screw ports. See drawings to the right.

Jack Rafters - Follow step 12 if the roof has jack rafters, if not please jump to step 13.
12. Slide SRM104 jack rafter bracket into the jack 
rafter. Now offer the jack rafter to the hip bar, the 
bracket will fit within the channel of the hip bar, 
once the jack rafter is sitting perpendicular to the 
eaves beam and is fitted tight up against the hip 
rafter, it can now be fixed in to position. 
Using 2 x SRH112 & 2 x SRMH116. 
Please note, these holes are not pre-drilled, 
this is to allow for fine adjustment on site to 
create a tight joint between the hip & jack rafter, 
see drawings below.

13. Once all the roof bars have been fully fastened 
to the eaves beam & ridge, you can fasten the roof 
to the timber upstand, using SRH113 (5.5x70mm) 
fixings through the pre-drilled holes in the eaves 
beam. Ensuring the outermost leg of the eaves 
beam is flush with external upstand. see drawings 
below.

Installation guide
V1 June 2021



Perimeter Seal

Drawing 5.0

Drawing 5.1 Drawing 5.2

Drawing 5.3

Drawing 5.4

Drawing 5.5 Drawing 5.6Glazing Order
1

2

3 4

Drawing 5.7

Drawing 4.7

Silicone Sealant

14. Now silicone seal the perimeter of the eaves beam before the eaves beam 
body is fitted, fill the channel of the eaves beam with suitable silicone sealant as 
per the drawing below, 4.7 & 4.8.

Eaves Beam

Drawing 4.8

15. Begin to attach the fascia trim, using a nylon hammer these trims can be carefully tapped 
into position, you will hear a click when they are correctly seated. This component has a full 
length gasket that seals the roof against the roof upstand, see drawing 5.0.

16. Now the glass infill trims can be fitted in between all roof bars, 
this fills the gap between the roof bars and gives a surface for the 
glass to seal against, see drawing 5.1 & 5.2.

18. Fit the correct glass 
end closure on to the 
corresponding glass unit, 
ensuring you position this 
centrally, leaving an equal 
gap either end, see 
drawing 5.3.

19. Now centralise the unit 
within the glazing bar so 
there is equal cover on 
either side and lower the 
glass unit in to position. 
The hook detail will locate 
in to the pocket of the 
fascia, See drawing 5.4.

20. If the gaps looks 
correct, raise the unit so 
the backing taped can be 
removed from the tape, 
then carefully lower the 
glass unit into position, 
see drawings 5.5 & 5.6.

17. It's important to follow 
the correct glazing 
sequence to spread the 
weightload during 
installation, see drawing 5.7.

Now that all fixings should be fully secured, check that the ridge is level, if adjustments are needed, loosen the fixings 
to make the necessary adjustments and retighten all fixings, before preceeding.

Glazing, please ensure you glaze your S1 Lantern Roof in the correct order as shown 
in Step 17 and follow all relevant HSE health, safety and manual handling guidelines. 

Perimeter sealing

Installation guide
V2 Oct 2022



A. All SBD roof bars have 2 clamping plates fitted at the top & bottom of each bar. If the roof has jack rafters a third bracket 
will be fitted to the hip rafters only, the location for these brackets have been prepped by the fabricator to ensure the 
clamping plate can be positioned correctly.

If the roof lantern you are installing has been ordered with the optional SBD upgrade then you 
must follow this additional page of instruction after Step 20, before proceeding to Step 21.

Please note Laminated Glass must also be installed 
to meet the Secured by Design standard 

SBD  
OPTION 

Installation guide
V2 Oct 2022

SRH128
Rafter Clamp Plate

SRH129
Hip Rafter Clamp Plate

DO NOT OVER-TIGHTEN

Typical
Prep Detail

B. There are 2 types of clamping plates, hip bars use the angled 
clamping plate SRH129 (Red) & rafters use the flat clamping plates 
SRH128 (Blue), as per the drawings below.

C. All clamping plates will need to be 
fitted to ensure the roof lantern is SBD 
compliant.Using 3 x SRH130 50mm 
anti-tamper stainless steel security 
screws per plate, carefully attach the 
clamping plate to the roof bar through 
the predrilled holes.

Hip Rafter 

Rafter 



Seal at these points

= Suitable Silicone Seal

4mm 4mm

12mm 12mmTimber
Drawing 6.0

Drawing 6.1

Drawing 7.0

SRM102

SRH110

Drawing 7.1

21. Top caps are clipped on to their 
respectively numbered glazing bar. Tap 
down until fully located using a nylon or 
rubber mallet on a piece of timber to 
avoid causing damage to the top caps, 
See drawing 6.0.
Ensure all caps are flush at the bottom of 
each bar.
*Jack Rafter Top Caps require a sealant 
joint where they meet the hip rafter top 
cap to prevent water ingress.

22. Now fit the end caps 
to all bars using 4.8mm 
security screws (Driver bit 
provided SRH118) each 
cap requires 2 screws, see 
drawing 6.1.

23. Before fitting the crown top cap, 
first apply a generous bead of 
silicone sealant to seal the top caps 
& ridge body, see drawing 6.2 
ensuring the gaskets in the top 
caps are sitting tight together.

24. Ensure the crown top 
cap seals are in place and 
seated correctly, then 
place the top cap onto the 
roof in it's correct position.

25. Using SRH110 (M8x110 
cap head) fasten through 
the crown moulding from 
the underside of the roof, 
do not over-tighten this 
fixing. This will compress 
the crown top cap seals 
and form a seal between 
the top caps, see drawing 
7.1.

Now Fit SRM102 (screw 
cover cap) to conceal the 
fixing using a small 
amount of silicone sealant 
to ensure this cover will 
not fall off in extreme 
temperatures.

Crown final assembly

Top cap fitting

Installation complete

Installation guide
V2 Oct 2022


